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NEW QUESTION 1
- (Topic 1)
A large manufacturer wanting to be more competitive in the global market place decided to outsource its transportation and return processing to other companies
on a contractual basis. The companies providing the services would be referred to as:

A. fourth party logistics providers.
B. third party logistics providers.
C. retail services providers.
D. distribution services providers.

Answer: B

NEW QUESTION 2
- (Topic 1)
Continuous improvement is best described as:

A. a never-ending effort to expose and eliminate root causes of problems.
B. a never-ending effort by the management team to reduce cycle time.
C. identifying and implementing big-step improvements within a process.
D. a process in which a supplier commits to replenishing inventory based on demand without receiving replenishment orders.

Answer: A

NEW QUESTION 3
- (Topic 1)
Compared to a global strategy, a multicountry strategy would be characterized by:

A. strategy coordination across countries.
B. preferred suppliers located in host countries.
C. major strategic decisions coordinated centrally.
D. products adapted to local needs.

Answer: D

NEW QUESTION 4
- (Topic 1)
Reverse supply chain activity typically peaks nearest the beginning of which of the following stages of the product life cycle?

A. Introduction
B. Growth
C. Maturity
D. Decline

Answer: D

NEW QUESTION 5
- (Topic 1)
A remanufacturer of equipment is most likely to have what type of supply chain?

A. Modular logistics
B. Reverse logistics
C. Mixed model
D. Lateral

Answer: B

NEW QUESTION 6
- (Topic 1)
Which of the following marketing strategies emphasizes offering services at a lower price than rival services with comparable features?

A. Cost leadership
B. Service differentiation
C. Customer focus
D. Market responsiveness

Answer: A

NEW QUESTION 7
- (Topic 1)
Which of the following results can be expected from sharing a common understanding of demand and consumption patterns among supply chain participants?

A. Improved transparency of collaboration relationships
B. Increased performance in balanced scorecard
C. Reduced inventory levels for key items
D. Better synchronization of planning and operations
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Answer: D

NEW QUESTION 8
- (Topic 1)
The process of gathering data about what customers need and ensuring that desired features are included in the design and initial planning phase of a new
product or service is known as:

A. a quick response program.
B. quality function deployment.
C. total quality management.
D. early supplier involvement.

Answer: B

NEW QUESTION 9
- (Topic 1)
A large wholesaler formerly owned a number of delivery trucks. The wholesaler sold all of its trucks and now purchases transportation services from fleet
operators. This is an example of which of the following strategies?

A. Selling and leasing back equipment.
B. Renting equipment on consignment.
C. Using a third-party logistics provider.
D. Using an owner-operator fleet.

Answer: C

NEW QUESTION 10
- (Topic 1)
An advantage of using a third-party logistics service (3PL) is improved:

A. on-time delivery of shipments due to higher inventory levels.
B. cost structure due to economies of scale.
C. access to smaller markets due to localization.
D. risk visibility due to inventory consolidation.

Answer: B

NEW QUESTION 10
- (Topic 1)
Which of the following practices has improved management of the customer pipeline?

A. Reverse auctions
B. Sales force automation
C. Finite capacity planning
D. Point-of-purchase metrics

Answer: :B

NEW QUESTION 11
- (Topic 1)
The primary objective of supply chain management is:

A. minimizing transportation costs.
B. reducing inventory levels.
C. taking a systems approach.
D. implementing advanced technologies.

Answer: C

NEW QUESTION 15
- (Topic 1)
Incorporating supplier input into product and process design helps to:

A. maintain quality.
B. stabilize product costs.
C. reduce time to market.
D. save costs to the buyer.

Answer: C

NEW QUESTION 16
- (Topic 1)
The probability of customer dissatisfaction is highest when which of the following conditions exists?

A. Customer expectations are clearly defined.
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B. Supplier execution is too low.
C. There is a gap between expected performance and perceived performance.
D. There is a gap between what was indicated and what was accomplished.

Answer: C

NEW QUESTION 21
- (Topic 1)
Companies are more likely to consider the consequences of their product design decisions when they view the reverse supply chain as an extension of the:

A. forward supply chain.
B. marketing process.
C. manufacturing process.
D. sales and operations planning process.

Answer: A

NEW QUESTION 23
- (Topic 1)
A main benefit of using customer relationship management (CRM) is:

A. maximization of on-time delivery.
B. minimization of product returns.
C. identification of customers with high lifetime value.
D. finding new markets for existing products and services.

Answer: C

NEW QUESTION 27
- (Topic 1)
A company manufactures special products for select customers. When demand for these products drops, the manufacturer can switch the production line to a
commodity-type product that can be sold on the open market at reduced terms to generate cash. The company is executing a corporate strategy that is based on:

A. customer focus and alignment.
B. forecast accuracy.
C. multiple downstream channels.
D. multiple upstream supply chains.

Answer: D

NEW QUESTION 28
- (Topic 1)
Which of the following benefits of supplier relationship management typically results from collaboration with a few critical suppliers?

A. Automation of supplier sales activities
B. Elimination of formal contracts
C. Reduction in customer and supplier inventories
D. Standardization of communications

Answer: C

NEW QUESTION 33
- (Topic 1)
Which of the following types of information would be an appropriate basis for a qualitative forecast?

A. Leading indicators
B. Market research data
C. Order history
D. Shipment history

Answer: B

NEW QUESTION 38
- (Topic 1)
Which of the following considerations is an important supply chain design decision?

A. Product design
B. Selecting supporting information systems
C. Identifying labor force requirements
D. Identifying training programs

Answer: B

NEW QUESTION 41
- (Topic 1)
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Which of the following forecasting methods relies on the opinions of a panel of experts?

A. Delphi technique
B. Survey method
C. Causal method
D. Time series analysis

Answer: A

NEW QUESTION 46
- (Topic 1)
A firm supplies products and services to a wide variety of industries with varying requirements for responsiveness and reliability. Many customers across these
industries are not satisfied with the firm’s ability to meet the lead time and on time delivery requirements. Which of the following tools is most appropriate for the
firm to use to improve
customer service?

A. Customer service ratio metrics
B. Market segmentation
C. Customer relationship management (CRM)
D. Supply Chain Operations Reference (SCOR®)

Answer: B

NEW QUESTION 48
- (Topic 1)
Which of the following customer relationship management activities most appropriately is used for revenue generation?

A. Generating customer leads
B. Generating graphic sales models
C. Measuring customer preferences
D. Identifying customer margins

Answer: A

NEW QUESTION 53
- (Topic 1)
Which of the following situations is an example of inventory being held as a way to balance supply and demand?

A. A manufacturer holds inventory of key components to maintain a level production schedule.
B. A manufacturer of seasonal products builds finished-goods inventory before the peak
C. selling period.
D. A distributor maintains safety stock of slow-moving items at a central distribution center.
E. A retailer stocks a variety of sizes and colors of a fast-selling item to avoid losing sales.

Answer: B

NEW QUESTION 57
- (Topic 1)
Risk pooling enables a lower total inventory level without affecting service levels based on which of the following assumptions?

A. Inventory turnover ratio can be reduced.
B. Aggregate demand is more accurate than disaggregate demand.
C. The planning time fence can be adjusted as needed.
D. The supplier shares some risk for holding inventory.

Answer: B

NEW QUESTION 61
- (Topic 1)
The value that logistics provides within the supply chain can best be summarized as:

A. satisfying customer expectations about availability and delivery at an acceptable total cost.
B. meeting promised location and on-time delivery goals with minimal use of expediting.
C. establishing inventory and delivery goals with various customers that fulfill the firm's profit objectives.
D. providing accurate in-transit and delivery information to customers and salespeople.

Answer: A

NEW QUESTION 63
- (Topic 2)
When a company undertakes a win-back strategy without considering the profitability of customer accounts, it is neglecting which of the following key elements?

A. Loyalty
B. Scoring
C. Segmentation
D. Prospecting
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Answer: C

NEW QUESTION 65
- (Topic 2)
The strategy to implement supplier relationship management has been developed. The most appropriate next step is to:

A. develop criteria for prospective partners.
B. develop policies for alliances.
C. select initial partners.
D. conduct a pilot implementation.

Answer: A

NEW QUESTION 66
- (Topic 2)
The social dimension of sustainability typically would be addressed when developing and implementing policies regarding:

A. accounting practices.
B. biodiversity protection.
C. conflicts of interest.
D. waste reduction.

Answer: C

NEW QUESTION 68
- (Topic 2)
A company produces and distributes a family of soft drinks in a single country. It has developed and will introduce a new family of soft drinks for weight- and health-
conscious individuals. There currently are no competitors with nationwide distribution for this category of soft drinks. Which of the following supply chain strategies
would be most appropriate for the two product families?

A. Produce both product families to forecast and push through the distribution system.
B. Produce both product families only after receipt of a distributor order.
C. Produce the current product family to forecast and the new product family to order.
D. Produce the current product family to order and the new product family to forecast.

Answer: C

NEW QUESTION 70
- (Topic 2)
In the Supply Chain Operations Reference-model (SCOR®), the cash-to-cash cycle time for a manufacturing company is the number of days between which two of
the following
situations?

A. Paying for raw materials and getting paid for the product
B. Shipping the product from the warehouse and receiving it at the customer's location
C. Paying for raw materials and sending an invoice to the customer
D. Billing the customer and getting paid for the product

Answer: A

NEW QUESTION 72
- (Topic 2)
Which of the following actions is in accordance with the Ten Principles in the United Nations (UN) Global Compact?

A. Preventing a group of employees from forming a collective bargaining (union) group
B. Paying different wages in different parts of the world for a given job classification
C. Requiring an individual to pay a fee for consideration in hiring or promotion decisions
D. Withholding certain employment opportunities from specific groups of people

Answer: B

NEW QUESTION 77
- (Topic 2)
Which of the following actions is most likely to increase total supply chain risk?

A. Standardizing components used in a product family
B. Expanding operations to multiple locations
C. Consolidating manufacturing locations
D. Reducing the supplier base for commodity-type components

Answer: C

NEW QUESTION 81
- (Topic 2)
Managing supply chain risks includes which of the following activities?
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A. Developing alternatives to key suppliers
B. Setting aside funds for disruption-recovery efforts
C. Charging each supply chain partner a portion of risk cost
D. Creating extra inventory to cover disruptions in the supply chain

Answer: A

NEW QUESTION 85
- (Topic 2)
A corporation must consider which of the following factors when selecting its enterprise resources planning system?

A. Uniqueness of operations
B. Corporate profitability
C. MRP and MRP II processing
D. Industry benchmarks

Answer: A

NEW QUESTION 88
- (Topic 2)
The United Nations Global Compact uses 10 guiding principles to:

A. reduce uncertainty for multinational firms regarding legal, import/export, labor, and environmental standards across countries.
B. set minimum levels of compliance across a broad range of transactional areas for businesses operating in multiple geographic regions.
C. align the needs of businesses to increase profitability and the needs of individual countries to ensure their specific legal requirements are met.
D. help ensure that markets, commerce, technology, and finance promote advancement of economies and societies everywhere.

Answer: D

NEW QUESTION 89
- (Topic 2)
A company wants to implement a system for managing environmental compliance with legislative and regulatory requirements. Which of the following sustainability
tools is most appropriate?

A. ISO 14000
B. Global Reporting Initiative (GRI)
C. ISO 26000
D. UN Global Compact

Answer: A

NEW QUESTION 91
- (Topic 2)
The most appropriate reason for a business to comply with the United Nations (UN) Global Compact practices typically would be to:

A. enhance the competitive advantage.
B. gain access to proven management tools.
C. reduce the threat of organized labor.
D. reduce the cost of operating in multiple countries.

Answer: A

NEW QUESTION 93
- (Topic 2)
A company's supply chain depends heavily on sourcing from international suppliers. Conditions increasingly threaten supply continuity. Which of the following
actions is most
appropriate?

A. Source from domestic suppliers.
B. Conduct a risk assessment.
C. Carry additional safety stock.
D. Spread logistics across multiple carriers.

Answer: B

NEW QUESTION 94
- (Topic 2)
When doing international business, a company's total line-haul costs will vary with the:

A. weight shipped.
B. distance shipped.
C. pallets shipped.
D. volume shipped.

Answer: B

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version CSCP Questions & Answers shared by Certleader
https://www.certleader.com/CSCP-dumps.html (510 Q&As)

NEW QUESTION 99
- (Topic 2)
A company's product cannot be sold beyond 12 months from the date of manufacture. The product contains hazardous material and must be returned to the
factory to be neutralized. This situation is an example of product:

A. reuse.
B. remanufacturing.
C. recovery.
D. refurbishing.

Answer: C

NEW QUESTION 104
- (Topic 2)
Inventory parameters established using analytic inventory techniques typically are based on balancing:

A. supply and dependent demand.
B. customer service and inventory costs.
C. transportation and warehousing costs.
D. inventory levels and decision-making costs.

Answer: B

NEW QUESTION 106
- (Topic 2)
A company that sells engineered-to-order products is planning implementation of a supplier relationship management system (SRM) for direct materials. Which of
the following factors is most likely to make the implementation difficult?

A. Complexity of the purchasing process
B. Cost of the application software upgrades
C. Management of variable lead times
D. Resistance of material suppliers

Answer: A

NEW QUESTION 111
- (Topic 2)
Which of the following measures effectively evaluates overall resources in a distribution warehouse?

A. Throughput
B. Cube utilization
C. Filled pallet positions
D. Labor efficiency

Answer: A

NEW QUESTION 112
- (Topic 2)
The most important challenge to consider when sourcing globally is:

A. the identification of sources capable of producing the materials.
B. the availability of low-cost labor and energy.
C. complying with specific import/export issues.
D. balancing the difference between piece price and total cost.

Answer: D

NEW QUESTION 117
- (Topic 2)
The process used to determine the impact of promotions, price discounts, and rebates on demand forecasts commonly is referred to as demand:

A. planning.
B. forecasting.
C. aggregating.
D. shaping.

Answer: D

NEW QUESTION 121
- (Topic 2)
The globalization of a supply chain typically increases uncertainty and:

A. production lead time.
B. local competition.
C. documentation complexity.
D. product standardization.
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Answer: C

NEW QUESTION 123
- (Topic 2)
Which of the following ISO standards is used to assist organizations with sustainable development?

A. ISO 31000
B. ISO 14001
C. ISO 26000
D. ISO 9001

Answer: C

NEW QUESTION 125
- (Topic 2)
An effective procurement strategy for commodity products should focus on:

A. driving down cost and reducing risk.
B. spreading purchases equally across suppliers.
C. selecting primary and alternate sources.
D. selecting suppliers with value-added products.

Answer: A

NEW QUESTION 126
- (Topic 2)
Implementation of supply chain applications based on which of the following technologies is most likely to have the lowest fixed costs?

A. Best of breed packages
B. One integrated package
C. Service-oriented architecture
D. Software-as-a-service

Answer: D

NEW QUESTION 131
- (Topic 2)
The best way to manage a business relationship is to measure performance to:

A. cost of ownership metrics.
B. quality targets.
C. on-time delivery.
D. agreed-upon metrics.

Answer: D

NEW QUESTION 136
- (Topic 2)
A company that is focused on customer relationship management is most likely to take which of the following actions for customers who have been profitable over
time?

A. Reduce the cost of serving them.
B. Target them for higher margin services.
C. Target them for greater attention.
D. Charge them for administrative services used.

Answer: C

NEW QUESTION 140
- (Topic 2)
A company originally based in Germany sets up companies in India, China, Vietnam, Mexico, and Brazil. It sources most of the raw materials locally and employs
the local workforce to manage and produce finished goods. Most of the goods produced are consumed in the same country. The company can be classified as
what type of enterprise?

A. Globally integrated
B. Domestic
C. Multinational
D. Virtual

Answer: C

NEW QUESTION 141
- (Topic 2)
Which of the following outcomes occurs when direct shipping is used instead of a distribution network?
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A. Outbound transportation cost is reduced.
B. Inventory velocity is reduced.
C. Order-fill rates are reduced.
D. Inventory obsolescence is reduced.

Answer: D

NEW QUESTION 144
- (Topic 2)
What is the primary benefit of using a central storage warehouse for all components rather than using point-of-use storage?

A. Reduced need for bar codes and radio frequency identification technology
B. Reduced material handling costs
C. Ease of control and count accuracy
D. Maintain a cleaner shop floor

Answer: C

NEW QUESTION 148
- (Topic 3)
Electronic data interchange reduces costs primarily through:

A. standardization of trading document formats.
B. adaptability across hardware platforms.
C. simplified software development.
D. replacement of proprietary systems.

Answer: A

NEW QUESTION 150
- (Topic 3)
Which of the following actions is most appropriate when implementing a strategy to create customer-affordable value?

A. Use a more rapid transportation mode.
B. Increase safety stock.
C. Extend product warranty.
D. Employ lean principles.

Answer: D

NEW QUESTION 152
- (Topic 3)
A supplier disputes a low rating generated by a company's enterprise resources planning (ERP) system. Which of the following actions by the purchasing agent is
most appropriate?

A. Advise the ERP information technology manager that there is a flaw in the rating system.
B. Scrap the vendor rating system until the company can figure out what is wrong.
C. Compare the vendor and company detail records, and interview company employees who handled the data.
D. Tell the supplier that, regardless of the disputed claims, the supplier must improve performance.

Answer: C

NEW QUESTION 154
- (Topic 3)
The benefit most likely to result from a collaborative forecasting process is:

A. improvement in forecast accuracy.
B. improvement in forecast responsiveness.
C. reduction of the coefficient of variation.
D. reduction of forecasting effort.

Answer: A

NEW QUESTION 158
- (Topic 3)
A company understates current revenue forecasts and delays the delivery of orders to meet the forecast. The most likely result of this practice is that shipments
will peak:

A. at the beginning of reporting periods.
B. randomly throughout reporting periods.
C. at both the beginning and end of reporting periods.
D. at the end of reporting periods.

Answer: A

NEW QUESTION 162

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version CSCP Questions & Answers shared by Certleader
https://www.certleader.com/CSCP-dumps.html (510 Q&As)

- (Topic 3)
A firm has determined its cash-to-cash cycle time to be 60 days. The number of days' payables outstanding is 25, and number of days' sales outstanding is 35. If
the firm reduces its inventory by 20%, the new cash-to-cash cycle time, in days, will be approximately:

A. 48.
B. 50.
C. 60.
D. 88.

Answer: B

NEW QUESTION 163
- (Topic 3)
A manufacturer is evaluating outsourcing production of high-volume components. Outsourcing production will likely require an increase in total supply chain
inventory for the components due to an increase in:

A. demand.
B. lead time.
C. quality.
D. suppliers.

Answer: B

NEW QUESTION 165
- (Topic 3)
A company operates under a make-to-order policy, and its supplier operates under a make- to-stock policy. Which of the following risks poses the greatest threat?

A. Inventory risk for the company
B. Inventory risk for the supplier
C. Debt leverage risk for the company
D. Debt leverage risk for the supplier

Answer: B

NEW QUESTION 168
- (Topic 3)
Which of the following factors is the most important driver of supply chain change?

A. Health and safety concerns
B. Competitor actions
C. Government regulations
D. Customer perceptions of value

Answer: D

NEW QUESTION 173
- (Topic 3)
Which of the following methodologies is most appropriate to use to drive continuous improvement?

A. Define-measure-analyze-improve-control process
B. Kanban
C. Poka-yoke
D. Pareto analysis

Answer: A

NEW QUESTION 174
- (Topic 3)
A primary objective of customer relationship management is to:

A. implement market segmentation.
B. create a data warehouse with critical customer information.
C. identify customer needs for a greater level of satisfaction.
D. target product promotions to customer segments.

Answer: C

NEW QUESTION 175
- (Topic 3)
When establishing third-party and fourth-party logistics relationships, a firm should avoid providers who:

A. use a proprietary information system.
B. constantly update their information technology and equipment.
C. provide extensive reporting on each customer interaction.
D. meet customer requirements through regional warehousing.

Answer: A
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NEW QUESTION 178
- (Topic 3)
A company recently faced an increase in backorders. The company’s marketing department recently ran a sales promotion. The purchasing and planning
departments were not aware of the promotional activity. Which of the following processes will help to solve this type of problem in the future?

A. Sales and operations planning (S&OP)
B. Advanced planning and scheduling (APS)
C. Supplier relationship management (SRM)
D. Customer relationship management (CRM)

Answer: A

NEW QUESTION 181
- (Topic 3)
A retailer sets service-level targets intended to maximize total profit. The retailer's service level target should be highest for items with a high profit margin and:

A. low variability of demand.
B. made to stock.
C. small replenishment lot size.
D. made to order.

Answer: A

NEW QUESTION 184
- (Topic 3)
A company handling sale of product discarded by consumers is what type of provider?

A. Third party logistics (3PL)
B. Reverse logistics
C. Fourth party logistics (4PL)
D. Warehousing

Answer: B

NEW QUESTION 187
- (Topic 3)
A firm has increased finished-goods inventories for several products to compensate for increased variability in demand. The firm analyzed shipment data and
determined that the variability was due to a few customers placing large orders for single shipments to obtain discounts. Which of the following actions is the firm
most likely to take to maintain sales and reduce variability in demand?

A. Reducing discounts for large orders
B. Encouraging high-volume customers to place blanket orders
C. Implementing extrinsic forecasting methods
D. Increasing the level of safety stock on high-volume products

Answer: B

NEW QUESTION 192
- (Topic 3)
Short order cycles to facilitate rapid replenishment will result in:

A. minimal in-process inventory.
B. fewer inventory moves.
C. improved communications to customers.
D. increased supplier collaboration.

Answer: A

NEW QUESTION 196
- (Topic 3)
The make-to-stock model is an effective inventory strategy when the product:

A. has a long manufacturing lead time.
B. has a limited set of features.
C. is designed by the customer.
D. is frequently out of stock.

Answer: B

NEW QUESTION 201
- (Topic 3)
Which of the following types of lead times is related most closely to a supplier performance measure?

A. Fulfillment
B. Replenishment
C. Overall
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D. Process

Answer: B

NEW QUESTION 206
- (Topic 3)
A company used Global Reporting Initiative guidelines to complete a self-assessment. Which of the following actions would be the most appropriate next step?

A. Share information with all stakeholders
B. Obtain top management support
C. Identify action items
D. Conduct gap analysis

Answer: D

NEW QUESTION 210
- (Topic 3)
Which of the following conditions are most indicative of a company that is effectively managing its cash?

A. Low accounts receivable, low inventory, high accounts payable
B. High accounts receivable, low inventory, high accounts payable
C. Low accounts receivable , high inventory, low accounts payable
D. High accounts receivable, high inventory, low accounts payable

Answer: A

NEW QUESTION 213
- (Topic 3)
Which of the following types of supply chains is characterized by difficulty in responding to rapidly changing demand patterns?

A. Push-based
B. Pull-based
C. Innovative
D. Collaborative

Answer: A

NEW QUESTION 215
- (Topic 3)
Which of the following costs is an example of ordering cost?

A. Inspection labor
B. Obsolesence
C. Cost of capital invested
D. Insurance

Answer: A

NEW QUESTION 217
- (Topic 3)
Purchased component standardization generates savings primarily by reducing:

A. assembly costs through economies of scale.
B. engineering costs due to lower testing requirements.
C. inventory control costs due to smaller shelf space requirements.
D. inventory transportation costs by using economical modes.

Answer: A

NEW QUESTION 222
- (Topic 3)
Which of the following situations is a consequence of global operations?

A. Decreased logistic cost
B. Increased logistic complexity
C. Reduced product variety
D. Longer lead times

Answer: B

NEW QUESTION 223
- (Topic 3)
The employees at a convenience store are trained to ask customers purchasing snack foods whether they also would like to purchase a beverage. This situation is
an example of:
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A. cross-selling.
B. customer service.
C. product marketing.
D. selling an upgrade.

Answer: :A

NEW QUESTION 224
- (Topic 3)
A manufacturer of fast-moving consumer goods wants to implement a process improvement method to increase flexibility and decrease the risk of obsolete
inventory. Which of the following approaches is most likely to help reach these goals?

A. Lean manufacturing
B. Advanced planning and scheduling
C. Six sigma
D. Total quality management

Answer: A

NEW QUESTION 229
- (Topic 3)
A retailer wants to partner with its suppliers to implement automatic replenishment of inventories and joint sales forecasts. Which of the following supply chain
management technologies most likely would support the retailer's strategy?

A. Advanced planning and scheduling
B. Collaborative planning, forecasting, and replenishment
C. Supplier relationship management applications
D. Radio frequency identification (RFID) tags

Answer: B

NEW QUESTION 233
- (Topic 3)
Effective sales and operation planning (S&OP) is most likely to result in which of the following benefits?

A. Better customer service
B. Better product quality
C. Lower product cost
D. Lower work-in-process (WIP) inventory

Answer: A

NEW QUESTION 235
- (Topic 3)
Which of the following manufacturing strategies typically generates the lowest supply chain inventory?

A. Make to Stock
B. Assemble to Order
C. Make to Order
D. Engineer to Order

Answer: D

NEW QUESTION 238
- (Topic 3)
Which of the following supply chain strategies should be chosen if the lead-time for a product is long and the demand is not predictable?

A. Inventory positioning
B. Pull replenishment
C. Continuous replenishment
D. Push system

Answer: A

NEW QUESTION 242
- (Topic 3)
A company may reduce its amount of safety stock by:

A. substituting information for inventory.
B. increasing the number of retailers.
C. increasing the number of producers.
D. changing to a push system.

Answer: A

NEW QUESTION 247
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- (Topic 3)
Which of the following tools is most appropriate to use to determine projects that will achieve the greatest net benefits?

A. Pareto diagram
B. Fishbone diagram
C. Process flow diagram
D. Operation process chart

Answer: A

NEW QUESTION 252
- (Topic 3)
A procurement manager wants to reduce costs on commodity items. Which of the following actions is likely to result in the greatest savings?

A. Conducting a supplier review and recertification
B. Renegotiating contracts with commodity suppliers
C. Standardizing and eliminating redundant items
D. Leveraging group purchasing power

Answer: D

NEW QUESTION 253
- (Topic 3)
A manufacturer has direct relationships with its tier 1 suppliers. Which of the following supplier capabilities is a benefit to the manufacturer establishing a direct
relationship with lower-tier suppliers?

A. Provides smaller lot sizes
B. Provides components with short lead times
C. Provides Just in Time deliveries
D. Provides information about impending shifts in the economy

Answer: D

NEW QUESTION 257
- (Topic 3)
Which of the following elements is critical to successfully using a sales and operations planning process?

A. Focusing on performance of the past 12 to 18 months
B. Implementing a unified cross-functional plan and process
C. Implementing bottom-up decision making
D. Aligning the forecast to the annual budget

Answer: B

NEW QUESTION 258
- (Topic 3)
Which of the following procurement strategies is most appropriate for a high-risk, high- value item?

A. Procuring in bulk to take advantage of volume pricing
B. Using an electronic trading platform to source items securely
C. Entering into vendor managed inventory (VMI) agreement
D. Creating a close collaborative relationship with the supplier

Answer: D

NEW QUESTION 263
- (Topic 3)
Which of the following activities occurs as part of the sales and operations planning process?

A. Time fences are matched to master production schedule horizons.
B. The next quarter's forecasts are presented by sales staff to finance and operations personnel at the final meeting.
C. Strategic plans are adjusted based on changing operating situations.
D. Plans are converted to financial projections and capacity requirements.

Answer: D

NEW QUESTION 268
- (Topic 3)
ABC Corporation is implementing a website that connects clothing distributors and retailers with many different garment manufacturers from whom they can buy
finished goods. This website would be an example of:

A. virtual auction site.
B. intranet commerce.
C. a vertical exchange.
D. an Internet storefront.

Answer: C
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NEW QUESTION 269
- (Topic 3)
A manufacturer's inventory levels are growing and service levels are dropping. Which of the following supply chain strategies is most appropriate to reduce
inventory and improve service?

A. Increase the safety stockon all items.
B. Reduce the setup time.
C. Optimize the total cost.
D. Implement batch operations.

Answer: B

NEW QUESTION 273
- (Topic 3)
Which of the following activities typically is included in a warehouse management system?

A. Invoicing
B. Freight-bill auditing
C. Order processing
D. Vehicle routing

Answer: C

NEW QUESTION 278
- (Topic 3)
The practice of purchasing items in large quantities and requesting that shipments be
delivered directly to customers is referred to as:

A. drop shipping.
B. cross-docking.
C. breaking bulk.
D. freight equalization.

Answer: A

NEW QUESTION 281
- (Topic 3)
A firm experiences a supply chain interruption from a second-tier supplier. Which of the following actions is the firm likely to take to minimize future interruptions?

A. Require the supplier to submit weekly cycle count reports.
B. Require the supplier to implement a sales and operations planning process.
C. Map the supplier's supply chain to identify risks and opportunities.
D. Conduct an ISO 14001 audit of the supplier.

Answer: C

NEW QUESTION 286
- (Topic 3)
Value stream mapping is a useful tool primarily because it:

A. redefines supply chain relationships.
B. is completed in 1 or 2 days.
C. is used to improve efficiency in a specific area.
D. looks at the entire supply chain rather than an isolated process.

Answer: D

NEW QUESTION 291
- (Topic 3)
Which of the following statements indicates an attribute of international commercial terms (Incoterms)?

A. They are required contract terms for international trade.
B. Each term implies the responsibilities of the buyer and seller.
C. Discounts and surcharges are identified by the terms.
D. The terms are reviewed annually by the International Chamber of Commerce.

Answer: B

NEW QUESTION 296
- (Topic 3)
A common benefit of including an automatic identification system (AIS) at the point of sale (POS) in retail stores is improved:

A. shipment traceability.
B. unit inventory precision.
C. sales revenue tracking.
D. information integrity of freight bills.
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Answer: B

NEW QUESTION 299
- (Topic 3)
Which of the following principles is a core value of the UN Global Compact?

A. Anti-Corruption
B. Profitability
C. Discrimination
D. Employment

Answer: A

NEW QUESTION 300
- (Topic 3)
Which of the following issues recently has caused companies to rethink implementation or continued use of a Just-in-Time system?

A. The upward trend in inventory carrying costs
B. The reduced number of potential suppliers
C. The elimination of billing documents
D. Higher transportation costs

Answer: D

NEW QUESTION 303
- (Topic 3)
Which of the following statements is true when a contract manufacturing agreement is implemented?

A. There is no longer a need for material requirements planning.
B. The total cost of acquiring products will decrease.
C. Communications and project management are key factors for success.
D. Assets on the contract manufacturer's balance sheet typically will decrease.

Answer: C

NEW QUESTION 308
- (Topic 3)
Top management typically plans an organization's long-term future by isolating new opportunities and threats and identifying growth objectives during the process
known as:

A. resource planning.
B. sales and operations planning.
C. corporate strategizing.
D. financial planning.

Answer: C

NEW QUESTION 313
- (Topic 3)
Which of the following tools is most important in developing strategic sourcing?

A. Price break analysis
B. Network analysis
C. Blanket purchase order
D. Spend analysis

Answer: D

NEW QUESTION 314
- (Topic 3)
A company is beginning the process of defining market segments for its products and services. The most appropriate objective for this undertaking would be to
identify groups of customers with similar:

A. geographical locations.
B. buying power.
C. revenue potential.
D. service requirements.

Answer: D

NEW QUESTION 317
- (Topic 3)
The implementation of major enterprise-wide changes to eliminate or significantly reduce waste is related to which of the following concepts?

A. Kaizen
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B. Kanban
C. Six Sigma
D. Lean

Answer: D

NEW QUESTION 322
- (Topic 3)
The relative speed at which all transactions within the supply chain process occur is known as:

A. the cycle time.
B. velocity.
C. latency.
D. throughput.

Answer: B

NEW QUESTION 326
- (Topic 3)
A key assumption of the economic order quantity (EOQ) is that:

A. future demand cannot be projected.
B. the rate of demand is continuous and constant.
C. reorder frequency is fixed.
D. as the lot size decreases, the setup cost per unit decreases.

Answer: B

NEW QUESTION 330
- (Topic 3)
Which of the following supply chain attributes is most appropriate for products with wide variety and highly variable demand?

A. Efficient
B. Responsive
C. Short
D. Virtual

Answer: B

NEW QUESTION 332
- (Topic 3)
Variability in product design can best be reduced by:

A. initiating 100% product inspection.
B. outsourcing the design process.
C. broadening design specifications.
D. applying Six Sigma principles.

Answer: D

NEW QUESTION 334
- (Topic 3)
An office furniture manufacturer observed that customers preferred to configure desks based on their available office space. To keep product costs to a minimum,
yet satisfy
customer needs, the company should choose which of the following design strategies?

A. Modularity
B. Component commonality
C. Mass customization
D. Standardization

Answer: A

NEW QUESTION 335
- (Topic 3)
The ABC classification system answers which two of the following inventory-related questions?

A. How much inventory should be ordered at one time, and when will the order be placed?
B. What is the importance of the inventory item, and how will the inventory items be controlled?
C. How much inventory should be ordered at one time, and what is the importance of the inventory item?
D. When will the order be placed, and how will the inventory items be controlled?

Answer: B

NEW QUESTION 336
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- (Topic 3)
Some firms that have licensed other companies to manufacture their products run the risk of:

A. losing market share.
B. the other companies becoming competitors.
C. the products becoming a commodity.
D. the products being overpriced.

Answer: B

NEW QUESTION 339
- (Topic 3)
A supervisor knows that employees have good ideas for improving department operations but are hesitant to share them. Which of the following tools would be
most appropriate for encouraging the employees to participate in identifying opportunities?

A. Tree diagram
B. Pareto chart
C. Process map
D. Affinity diagram

Answer: D

NEW QUESTION 344
- (Topic 3)
An advanced planning system differs primarily from enterprise resources planning by:

A. optimizing operations scheduling.
B. translating plans into action.
C. concentrating on production.
D. linking to the transportation management system.

Answer: A

NEW QUESTION 349
- (Topic 3)
Which of the following measures typically would be considered an aspect of the environmental impact of a supply chain?

A. Amount of funds invested in infrastructure improvements
B. Hours of employee education about environmental stewardship
C. Weight and volume of packaging materials used
D. Total number of people making a living wage

Answer: C

NEW QUESTION 350
- (Topic 3)
A company that locates manufacturing facilities in different countries so that an economic downturn in one country most likely will be offset by business in another
country is employing what type of strategy?

A. Speculative
B. Hedge
C. Flexible
D. Forecast

Answer: B

NEW QUESTION 353
- (Topic 3)
A manufacturing company with limited competence in logistics plans to expand into an international market. The most appropriate initial action the company should
take is to:

A. buy a distribution company.
B. build a distribution network.
C. engage a third-party logistics company.
D. gain logistics experience.

Answer: C

NEW QUESTION 354
- (Topic 3)
A company is considering relocating production to a lower-wage country. Volatility in which of the following areas most likely would impact profitability without
modifying product landed costs?

A. Labor costs
B. Currency exchange rates
C. Commodity prices
D. Product quality
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Answer: BExplanation:NEWQUESTIONS

NEW QUESTION 357
- (Topic 3)
A consumer goods manufacturer has introduced a new frozen product and encountered problems applying package labels consistently. Which of the following
methodologies would be most appropriate to use to identify the root cause of the problem?

A. Six sigma
B. Statistical process control
C. Lean production
D. Theory of constraints

Answer: A

NEW QUESTION 360
- (Topic 3)
The most appropriate strategy for a firm that makes and sells a wide range of items typically would be to domestically source items that have which of the following
characteristics?

A. Short product life cycle and many variations
B. Short product life cycle and few variations
C. High labor value and low transport uncertainty
D. High labor value and high transport uncertainty domestically

Answer: A

NEW QUESTION 362
- (Topic 3)
Horizontal and vertical exchanges of secure data among supply chain partners are facilitated best by:

A. the intranet.
B. a portal.
C. a Web site.
D. e-mail.

Answer: B

NEW QUESTION 367
......
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